From Rick Stonebraker

Case Study #1 – 2005
a)   Remove the highest scoring arrow and count only 8 arrows.

b)  First, there are 10 scoring arrows so I remove the highest scoring arrow. Then because one archer shot four arrows, I would remove another high arrow.  Or would you do the same as in a), just remove one high arrow?

BTW, you did not mention if this was indoors or outdoors. If it was outdoors, then you could remove one of the highest arrows and all would/might be okay. But if this were indoors and each archer was shooting their own face, then there would be a multiple problem and I would think if it were indoors, that problem might not happen. If it were indoors, then you would only have to deal with that one individuals score and that would be to remove a high arrow for shooting four arrows and then use the lower of the two arrows that were on a single face.
#2

a) The same as the rest of the field. If there are four to a target, then ALL targets will have four faces. They must be uniform and they cannot help an archer by having three faces which could help an archer NOT shoot at the wrong target. 

b) If a person leaves, leave that target face there so that everyone has four faces on a target.

#3

2.2.7.1 All advertising ……. must not exceed 400 sq cm for each item. If that is the case, then Vic Wunderle could be a walking billboard. A tacky one mind you. 
#4

a) Count the lowest six scoring arrows.

b) Count the lowest six scoring arrows.

